EInEERRE 223t i Bl HInstal lation manual )

FHER:
E R BN JL 417 Jeep Wrangler JL 4 DR
I B . 30 Min
ZRAMEFHRNRAZILHAS,  UBRERR;
RN, W ZRRPRITRE.
FHHAR
W 5 FEAE L BT N H R B BEAT B A
e PR AR M
W B A AR Ladder 1 LL
) -| RS 4E 1 bracket (D LL1
1
©) SRR AR 2 bracket 2 | LL2
: N840 £ N 75 f IR 4
@ ﬁl 1= Cyl indrical/\socket 4
head cap Bolts
5) M8 =2 MZREFlange Nuts 4
6) |]\/18 # HrGasket 4
102005 3k 4 7 e
) Round head socket head 2
cap bolts
®) M10 #fGasket 2
) T — —~-|| 6mmyS A TFAllen wrench 1
(10) e —— _H\! SmmyS FIR FAllen wrench 1
' | #hE8. 8mm Outer
an /\ TER NS AR FALLen diameter
wrench
8. 8mm
12 l I ekt E#EMLadder Cover 1




RESR:

TR
<« BMHFEHHRFHE S TER
gﬁ:O

Take out the accessory and make sure
it’s complete

| € R R TR
R T BB bR . R

Place the
assembled ladder flat on a protected

floor to prevent scratch.

(IR B2 Wk B Z3RIFIT2HE
*Bﬁ $1Eﬁ-l:o If the roof rack is

installed in advance, you need to remove the
roof rack first)

HRETECRREERSE HiE

ﬁRemove the roof and body fixing
bolts:

e NN HRT, BRERSES
EEIR BT, RawnBios F5
TEA &8 =8, FELAZF M
° —%8ﬁﬁ$§é_2.o Take out the
Allen wrench(dD, and remove the
connecting bolts between the roof
and the body. As shown in the
picture, there are three screws on
the left and right under the
window, and one on the left and
right of the roof. A total of 8
original car screws.

HEE:

EEEREAELEE, TREERTER
5 %% The ladder is installed on
the left rear, and the left rear
bracket of the Roof Rack does not
need to be installed.

bk 2753 5 2

ERER, FRETEFRLE, BE
TR LTS, % LLISLL2# TG AL
JE & T, EMEESZNIA R
s RSTREEA N FT R RERAL,
BE TET, FERAERANARTE
3 | EHRIRALRME, EWMAF. As shown
in the figure, after removing the
original car screws of the rear
roof, lift the roof upward, insert
the LLI1#LL2# bracket into the gap
between the roof and the body on
the lower side of the left rear
window, and align the bracket
mounting holes with the roof
mounting holes. Put the roof down,
use Allen wrench( to tighten the




original car screws, and the roof
is restored.

BHRESEE:
SE Ly N ]

ﬁ Ao Snap the bracket on the

reverse side of the ladder into
the body rain gutter.

LA SRR 1 53RN,
FIM10%20 8 5k Py 75 1 BB £2+2 1M1 052
F¥2, XKE.

, use M10*20Round head socket |/
head cap bolts(7)*2+M10 gasket
(8)%¥2, and tighten them.

mE R

‘ABE: E#EMR snap into the

Ladder Cover

Align the holes at the bottom «
with bracket (O and bracket @ y







EMFERESIE=2, W
BFTR~. EREXEAERE
- The roof Rack is
installed to the third
step, as shown in the
figure. Do not install
the left rear bracket

WHFPEREME:
HEERERERS), X558
BT, 4 EERRE,
R 6 T ARER G A R 2
BRIRZHTE . 8+40BHN
FNF AR 22 x4 MBH i *4-+MBHE 2%
1ZiEMove the Roof Rack back
and forth, align the ladder
to reserve 4 mounting
holes, and use the original
Roo Rack bracket connector
and ladder screws to fix
it. 8%40Cylindrical socket
head cap Bolts(4)*4+M8
Gasket(6)¥4+M8 Flange Nut(5)

ITZEHNES B R B [EFixed roof

Rack Bracket cover (outside)

BER R T

e,  JrEZEsRelk
Pk, RBAES. A

shown in the figure, open the
ladder lock and unfold the
ladder.




